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State whether the given lines are parallel, perpendicular, or neither.   
Solve for y if necessary. 
1. 𝑦 = 𝑥 − 3     2. 𝑦 = 2𝑥 − 8 
 𝑦 = −𝑥 + 4      −2𝑥 + 𝑦 = 7 
 
 
 
 
 
 
 

3.  𝑦 = −
2

3
𝑥 + 7    4. 𝑦 = −

1

2
𝑥 + 4 

 2𝑥 + 3𝑦 = 1     𝑥 − 2𝑦 = 5 
 
 
 
 
 
 
 

5. 𝑦 =
5

2
𝑥 − 6     6. 6𝑦 = −2𝑥 + 6 

 𝑦 = −
2

5
𝑥 + 6     3𝑦 = −𝑥 + 9 

 
 
 
 
 
 
 
7.  𝑦 = 𝑥     8. 𝑦 = −5 
 𝑦 = 5       𝑥 − 4 = 6 
 
 
 
 
 
 
 



9. 4𝑥 − 𝑦 = 8     10. 4𝑥 + 4𝑦 = 28 
 𝑥 + 4𝑦 = 3      3𝑥 + 3𝑦 = 21 
 
 
 
 
 
 
 
 
 
In each of the following sets, select the one equation whose graph would 
not be parallel to the other two: 
11. {𝑦 − 6𝑥 = 3,   2𝑦 = 12𝑥,   𝑥 = 6𝑦} 
 
 
 
 
 
 
 
 
 
12. {4𝑥 − 𝑦 = 2,   𝑦 + 4𝑥 = 2,   4𝑥 − 𝑦 = 2} 
 
 
 
 
 
 
 
 
 
13. {3𝑥 + 𝑦 = 8,   2𝑦 = 8 − 6𝑥,   𝑥 − 3𝑦 = 8} 
 
 
 
 
 
 
 
 
 



In each of the following sets, select the one equation whose graph would 
not be perpendicular to the given equation: 

14. 𝑦 = −
3

5
𝑥 + 1             {3𝑦 = 5𝑥 + 6,   𝑦 = −

5

3
𝑥 + 1} 

 
 
 
 
 
 
 
 
 

15. 2𝑦 − 𝑥 = 0                 {𝑦 = −2𝑥,   𝑦 = −
1

2
𝑥} 

 
 
 
 
 
 
 
 
 

16. 𝑦 + 5𝑥 = 4                 {𝑦 = −5𝑥,   𝑦 =
1

5
𝑥 + 4} 


